Lesson 0. Sepam{-ion of Vaf:'ablcg

I .

lodlo.,w lecture we will be aﬂo:r@ mere._of Hw, same , plus

some’ aoe)llcah(}h oroblems.

Examg » Find the qcnem,\ solution of the differential egm.:
@ J'_ & _\/ =0

Rcwrlﬁ 12 dy =
A+
O{IXZ (’ffl’
Y
= da))
y
(&= (47t
v :
iz g+ €
Jnl?lz"l £ C
g Sh
w2 expl =l e
/ [} _}_ !
Ty =eexp| -]
/ i Ahe
vzt e exp
A R
All a constant
v Gl |y
lges




h ] | Ll
A+y| = exp X e
4 |
i(Q*/v)z e expl x7
Y

W L
Al a constan

ny =G exorz‘r‘

o Lo

T,

i
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Example 4: The rate of change in the number of miles of road cleared per hour
by a snowplow with respect to the depth of the snow is inversely proportional
to the depth of the snow. Given that 24 miles per hour are cleared when the
depth of the snow is 2.1 inches and 13 miles per hour are cleared when the
depth of the snow is 8 inches, then how many miles of road will be cleared each
hour when the depth of the snow is 13 inches?
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